buptiwunnignid

Zudwphs

Zwjlnupup

1. @nidwpkp hnunnnpuljubpp:

120 s 42 162
160 160 160

13 3 1x13+5x3 13 15 28_7
20 4 20 20 20 20 20 5
[20,4] = 20

20:20=1

20:4 =5

2 4- 5x2 3x4 10 12 22

3 5 15 15 15 15 15
[3,5] = 15

15:3 =5

15:5=3

5 7 3x5 4x7 15 28 43
16 12 48 48 48 48 4-8

[16,12] = 48
48:16 = 3
48:12 = 4



2. Yuwnwpbkp Ynunnnpwljutph hwunud:
330 142 B 188 B 47
180 180 180 45
13 3 _ 1x13 3x3 _ 13 9 4

15 5 15 15 15 15 15

[15,5] = 15
15:15 =1
15:5=3

15 3 15x7 3x11 105 33 72

11 7 77 77 77 77 77

[11,7] = 77
77:11 =7
77:7 = 11

13 3 52 15 37

10 8 40 40 40

[10,8] = 40
40:8 =5
40:10 = 4

3. Guunwpbkp puquuuyunlnid.

4 5 20
6 12 72
(15 _ 60

18 18



4. (Chyp ubkpljuyugptp Eplnt unynpuwljutt Ynunpwliubph
wpunwnpjuih wnkupny.
32 2x16 2 16
28 2x14 2" 14

5. Yuunwpkp pudwtinid:

24 4 168 40 4.2
10°7 77 "77 77

[10,7] = 70
70:7 = 10
70:10 = 7

10 20 3 60

203 = T%70 7 10

27 1 1 1
= —X— = —

347 = 1B*17 13

6. Uunnquithoh  thnjuwpkt  h'uy  phy gqphne ghupnud
Juunnwugyh hwjwuwpnipnii:

8 12
_-*:_
25 7
12 8 12

| 25 300
725 778 " 56




8 300 2400 12
2556 1400 7

25 8

* i — = —
36 11

25 8 200 50
X = =

36 11 396 99



